CHIANTO

BEERIISOERERR

1. EE S RESE > EFEE -

2. TTHNERRRERS - BREAR > BB S -

3. RAEMEMESEE » WEM » ARESF -
4. BRNEERE > EHRINHIFERETER -

5. iR mER A EBERK » RINCHHENT - REFS
PRk ZE -

6. FRA R 4a MR R mE  RIFEESE - B AFEHBRE -

52 i
* 5l AS | ASR
{EEIAZIN RER R ERY
E = @40 ~ @50 ~ @63 ~ @80 ~ @100 ~ @125~ @150
EEEp = F/
iy [EE 7D 1.5MPa (15.3kgf/cm?)
BAERES 1.0MPa (10.2kgf/cm?)
£/)\EEED 0.05MPa (0.5kgf/cm?)
EREE 50~500mm/sec
ERRE -10°C~+70°C ( REFEKAREE)
& i ity O 57 42 {7
#am THEE (foHto)
KNI A
AS R 50 X 100 LB SH 2
| | | | | | |
% 3 Bf /2% F i 7 2 fic REIPERE | | RERHE
| | | | | |
AS mEm 240 ||25~500mm|| [W%% SH-22 1 118
P @50 A & ~ 2 218
“— 263 ETI BER
ASW ST @80 CA ‘ LBl Gy ~ B EEER
— 2100 S TH :
o pa— 2125 = o - %En " &
@150
Y BUIEE <o gﬁ R A i 2 518150.01 -
Y @' FA
CEET &=
yr BEAR
P y FB “

3 08.01



_ (mm)

BX
7%

240 ) J J J ) J J ) ) J J ) J o | 700
950 - - — 4 = - - ~ 4 - -y — 4 -4 - - BDD
263 J J J J J J J J J J J J J J 800
@80 ) J J ) J J J J J J ) J o | 1000
2100 ) J J ¥ J J J ) J J J J J | 1000
@125 e J J J J J J J J J J J J o | 1000
@150 J J J J J J J J J J J J J . | 1000

EH

W =8\ 78 2= .

o Al = EEEETRE 1 BER IREESR

2] %= RoEREERE 1 240 COR16 | DF20 SM36 APA4D
(3] A= $0 &S pmEr 1e i et 1 @50 COR20 | DF25 SM46 APAS0
14) SEER B R EIEREE 1 263 COR20 | DF25 SMB0 APAB3
5] EE EeE 1 @80 COR25 | DF35 SM75 APABOD
® | iEHE NBRIJIZIZ 1 @100 COR25 | DF35 SM95 APA100
7] i 2R 1 @125 DRP35 | DF50 G120 APA125
(8] EEIR WigE 2 @150 DRP35 | DF50 G145 APA150
0 |FIREESER 91502 2

O | EEHEH NBREJIZE 1

1) i & EMHE I 1

[12) TR POM 1

13] REE B 0 4

O | BRIRE Bk 58 8

© | EEE B 3 2

3 08.02



d

CHIANTO
NIRRT IE
'—‘ ' __ A+{TE L
. EER(SD) c E N B+{T12 N
s 4-MM 80 F L1 2-PT L
- /ﬁm& IR "'* ‘ﬂ
- - N
QI I =TT
(@ o T o ek
7% 1D dilNn 1t
S (Wi, /
aow 18] J
- ou K

I A |[B/CleD1eD E| F |[G|/H|J | K |L1/L | MM L\ N | S T U W  PT

@40 (118 |30(24| 35 | 16 |24 9 |13|4 |8 |15 |[11|13 | MBX1.0 M12X1.25 32 | 19| 7 |52 | 37 |PT1/4
@501119(30|32| 40 | 20 |25(11.5|17|5 |8 |13.5/13 |13 | M6X1.0| M16X1.5| 32 |22 |10| 65 |46.7 |PT1/4
@63 |121|33|32| 40 | 20 |25| 13 |17|5 | B | 12 [12.5/12.5|M8X1.25 M16X1.5[31.5| 22 |10| 75 | 56 |PT3/8
@80 (143 |39(40| 45 | 25 |32| 15 |22|6 (10| 17 |14 |14 [M10X1.5 M20X1.5| 36 |27 (12|94 | 70 |PT3/8
@100(143|39|40| 56 | 25 |32| 16 |22 |6 |10| 16 |14 {14 M10X1.5 M20X1.5| 36 | 27 |12 (113 | 85 |PT1/2
125|174 |46|50| 60 | 35 |48| 19 |32|8 |15| 29 |24 |24 [M12X1.5 M30X1.5| 40 | 41 |10|140|110 |PT1/2
@150(183 |55|50| 60 | 35 | 48| 18 |32|8 |15| 30 (20|20 |M14X1.5| M30X1.5| 40 |41 [10|165|130 |PT1/2
) TEIRE(TC) - T4
N\l /28 [ — — i
Y — =
(@) A== el RN D P
RNy il == U/ _
ﬁmﬁ\t (2N L — — o
\NZl N — —
.| ™ S TL __ TA+1/2{T#2 o
um C A+ITEE

@40 118 24 30 71 25 25 63 59 113
@50 118 32 30 71 25 25 76 71 126
@63 121 32 30 73 25 25 88 86 138
@80 143 40 30 87 25 25 114 104 164
2100 143 40 30 87 25 25 132 128 182
@125 174 50 40 110 25 25 160 160 210
@150 183 50 50 115 32 32 190 180 254




ARRTR

2-MM

) TAREEE

O HRIEEFZ(LA)

e /ZS) 1A ARAnN
N7 Y/ Ll T b=
(a\ A 2 & A
gy O ® @
O 4, -
e ] s ! P [ ! |
) s | ™
= AU - 2=-aP __AP LA+iT1E - AP
___ AA+ITEE _
ki LA AA AE AG AH AP AT AU AW oP MM
@40 74 108 52 o6 13 20 10 91 70 8 MEX1.0
@50 74 108 65 33 14 24 12 104 83 8 M6X1.0
@63 76 111 | 75.5 38 12 26 14 116 95 8 M8X1.25
@80 82 129 a5 48 18 33 15 146 | 121 10 | M10X1.5
@100 82 129 115 58.5 18 37 16 165 | 140 10 M10X1.5
@125 g5 158 141 71 20 40 20 202 171 13 M12X1.5
@150 | 105 168 | 169.5 | 87 20 40 20 245 | 205 13 M14X1.5
BA+{TIE
 BaZE H/[LB] =
7R /S ‘
ﬁﬂ N7 L] T s :“
(41
[ERNZPB RTINS ANl B
m
[@ @%\ @ & ]
= i : — | o— ! y
‘ ‘ A4-MM BP __ BP
! ! EREITE
| | AmgP | BH LB+{7i2 BH |

@40 141 141.5 57 31 12 23.5 3.2 57 36 12 MBX1.0
@50 150 147 69 36.5 12 28 3.2 68 47 12 MBX1.0
@63 158 152 79 41 13 31 3.2 80 o6 12 M8X1.25
@80 171 173 96 49 16 30 4 97 70 14 M10X1.5
@100 171 173 114 57 16 30 4 113 85 14 M10X1.5
@125 215 218 160 90 6 45 8 140 80 15 M12X1.5
@150 235 233 177.5 a5 20 50 10 170 105 15 M14X1.5

3 08.04




d

CHIANTO
NAERYE
J’ Eﬁf%ﬁ [FA] 4-MM FEEEERE X L+iTHE
s S 1 & | & ETE T
6B LS+ | L
) 7 j} L = & = @ )
COCS 7 f e ~
DO @ By i [
‘ Ow 4-pP I BD | BC
BO
BA
ke BA BB BC L MM BO eP BD R oW X
@40 91 52 10 94 MBX1.0 70 7 14 37 37 48
@50 104 B5 13 94 MBX1.0 86 9 12 47 46.7 57
263 116 76 13 96 M8X1.25 98 9 12 56 56 B
@80 146 95 16 111 M10X1.5 | 119 12 16 70 70 72
@100 165 115 16 111 M10X1.5 | 138 12 16 84 85 72
@125 220 140 21 125 M12X1.5 | 180 16 28 30 110 98
@150 270 170 20 135 M14X1.5 | 220 18 28 134 130 98
) BZEiR (FB)
A-pP
X L+§772 MMV RRERE
mERE I 4 7 ™
e = S 1-@ 0
= A & e f % )
e Y o AL
L 1
5 ST O @ |
BC aw
M+{TH& B0
BA

oP
@40 80 52 10 94 128 MEBX1.0 70 7 37 37 48
50 104 65 13 94 131 MBX1.0 86 9 47 46.7 56
63 116 76 13 96 134 | M8X1.25 88 8 56 56 57
280 146 95 16 111 158 | M10X1.5 119 12 70 70 72
2100 165 115 16 111 159 | M10X1.5 138 12 84 85 72
@125 220 140 21 125 193 | M12X1.5 180 16 20 110 88
@150 270 170 20 135 203 | M14X1.5 220 18 134 130 a8

3 08.05



ARRYR

_ ElF(CA) AMM TEEERE
e

— - — aCho
Eanin an (P 1y
L] T T L N
i 52N A A a
ST 9 P Sy
L[] LT AT A
& &
e A
AT )
AP Ow
cC I AAHITEE | AH - au -

@40 152 12 34.3 10 24 14 MBX1.0 52 20 el

@50 153 12 34.2 11 32 14 MBX1.0 64 20 46.7

@63 165 12 34 11 32 14 MB8X1.25 74 20 56

@80 191 20 48 12 40 20 M10X1.5 93 32 70
@100 191 20 48 14 40 20 M10X1.5 112 32 85
@125 224 25 50 16 50 25 M12X1.5 136 35 110
@150 238 27.5 eyl 18 50 30 M14X1.5 168 40 130
O EF(CB) 4-MM FUEBEEITR

eCD

ga:’s f D&
e [ = = TN
o L _ C// e N sy

BT \

-

BP Zz

C BA+{THE BH Ou

40 140 12 223 10 24 14 MBX1.0 52 20 44
@50 141 12 22.2 11 32 14 MBX1.0 64 20 44
@63 143 12 22 11 32 14 M8X1.25 74 20 44
@80 178 20 35 12 40 20 M10X1.5 93 32 64
2100 178 21 35 14 40 20 M10X1.5 112 32 64
@125 223 25 50 16 50 25 M12X1.5 136 35 70
2150 238 27.5 55 18 50 30 M14X1.5 168 40 80

3 08.06



d

CHIANTO
ﬂ_ﬁ?RT_riE_
) SEE(EE) 2 ASWOOX OO
A+2{T18
C o E M B+17f2 —l N E+iT7i2 - C
F el L L
iT 1 ‘ : «_‘ T iT
— | T
ﬂzﬁ:; K A A ot - 2
I P 2| & J-=t
L] i I

240 142 30 24 35 16 24 9 11 32 M12X1.25 7
@50 144 30 32 40 20 25 11.5 13 32 M16X1.5 10
63 146 33 32 40 20 2b 13 12.5 | 31.5 M16X1.5 10
@80 175 39 40 45 25 32 15 14 36 M20X1.5 12
2100 | 175 39 40 56 25 32 16 14 36 M20X1.5 12
2125 | 222 46 50 60 35 48 19 24 40 M30X1.5 10
2150 | 231 55 50 60 35 48 18 20 40 M30X1.5 10

O S (O ASWOOX OO0 YOO

c E N B+iTiE N E+i77E C + O

WA T[FE{TIE (25mm)
mERE T WB TI5{712 (50mm)

H:%PGT_" - fvim 3
UQ

| s
b7 =y

|
<&
<D
|

WC
L A B c E (\ M WA WB WC | WD
@40 | 142 30 24 24 32  |M12X1.25| 55 80 15 29
@50 | 144 30 32 25 32 M16X1.5 60 82 15 34.6
@63 | 146 33 32 25 31.5 | M16X1.5 60 82 15 34.6
@80 | 175 39 40 32 36 M20X1.5 67 87 20 41
@100 | 175 39 40 32 36 M20X1.5 67 87 20 41
@125 | 222 46 50 48 40 M30X1.5 80 105 25 50
@150 | 231 55 50 48 40 M30X1.5 80 105 25 50

3 08.07



ABRT & m

O YEUEBA(Y) - -

CM gCK HS

AL

ER

LE

CE

¢ A ""--._.__________,_.—-"
< (]
J |
M 2BD
AR A G J M CE | eCK |OCL | CM | eBD | ER KG LE
@32 20 15 52 | M10X1.25 | 40 10 19 10 18 12 26 20
@40 24 15 B0 | M12X1.25 | 48 12 24 12 22 12 32 24

@50 ~ @63 | 32 18 83 M1B6X1.5 64 16 32 16 28 19 | 40.5 32
@80~ @100 | 40 20 | 105 | M20X1.5 80 20 38 20 37 25 46 40
@125~ @150 | 32 15 g8 M30X1.5 72 24 50 24 42 26 58 40

. PEIEEEE(P)

(o]

|
o
g

A
b %( 7
u ol ¥ | /(3\
AN\ - >
\i \ n o
NIN t° 558 X
‘ @B0 ‘
5 |A|C|E|G]| J M Q | X |eBD| CE |eCK| oCL|CM | CD | ER | LE

232 21111]19.1]6.5| 56 |[M10X1.25 |12.8| 17 | 19 | 43 | 10 | 15 | 14 | 26 | 13 | 22
240 24 |12 |22.2/6.5| 65 [M12X1.25|15.4| 19 | 22 | 50 | 12 |[17.5] 16 | 30 | 16 | 26
@50 ~ @63 | 33|15 |28.5| 8 | 83 | M16X1.5 [19.4| 22 |27 | B4 | 16 | 22 | 21 |38 | 19 | 31
(280 ~ @100 | 40 |18 |34.9/ 10| 100 | M20X1.5 |24.4| 32 | 37 | 77 | 20 |27.5| 25 | 46 | 23 | 37
2125 ~ @150| 56 |26 |50.8| 15 143.5| M30X1.5 |134.8| 41 | 50 | 110]| 30 | 40 | 37 | 67 |33.5| 54

3 08.08



